HEEOERBRES)=VIRE—E

U= £ 5iE £ 5+E8 £5+VIO 2 5+EE+VIO
CAAD)=v — 67,800M — 133,800H
€)=y 64,800M 70,400 90,400M 129,800M
MEESV)=vY 6[a:77,400M — — 6[a: 155,700
TVTII)=9) — — 70,400M 145,400H
TCBRRHRESNF 198,000 298,000/ 298,000 389,000/
Lo—39)=vy 205,000 294,500 280,250M 360,000
Bo)=—wH 159,000H 231,000M 220,000M 275,000
T09)=v9) — — 75,900M 218,900
IWoTI)=wh 165,000M 187,000M 187000M —
BHERVTI)=vY 146,000 — 224,000 —
HHIEVI=vH 1E:19,800M 103 : 26,800/ 1[@:29,600M | 1[8]:36,600M
Y=y 86,000 — — —
BUEL—T1—9)=vY — 3[a]:246,180M — —
FEpYZiclinic 149,000 198,000 198,000/ 245,000
HEREBREH 181,000 — — —
N—TEa—T4—9)=vH 189,000M — — 245,000H
IE=RI=2) 198,000M 247,280M 296,560HM 296,560M
EBNHUTLIEETAVF ) =Y 198,000H 253,000M 253,000M 324,500M
LopEL=vH 210,000 230,000/ 250,000 298,000
NIAT AT =Y LHRELGL — — —
WA )=vY 189,050 — — —
BLERV)=VD 347,600 — 422,400M —
107,800M
HITERNH XFEDH — — —
REERNE 347,600 — — 518,100M
H—FoH)=ws 6[a: 242,000 — — 6[a:297,000MH
LEHEFRI)=VY L5 ELL — — —
REEARAFTUI)=Y 6[q]: 259,200 6[q]:340,000M | 6[a]:340,000H | 6[8]:398,000M




HWERY)=Y) 380,000H — — 500,000H

ToNg) =9 108,900H 163,350M 163,350M 217,800H

EREANKASWREU 0 =YY 180,000H — — 260,000H
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